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5. On the coordinate plane, the symmetry point of point A (1, 2) to line L is B(5, 4). What is
the equation of the line L? (A) 2x+y=3 (B) 2x+y=6 (C) 2x+y=9 (D) 2x+y=12

<fZ{7>

Bk y=ax+b o 5~ (1,2)~ (5,4)

2=a+b
TP 30ag g2t p3
4=5a+b 2
FRE M AR5 y=%x+% gERLELr > ERML y=-2x+c

P 2h(3,3) P3=—6+c > c=9 > EM L y=-2x+9 » E C-

. - B
6. +®°® > NABC 5- % &= 435> ¥ 24B=34C » AD=DC > /DBC=0

' Bl tan6=2 (A) % (B) % (©) 17_1 (D) l’il

<fZ{7>
L /ABC=a » ZABD=B—0=a-p

C.tanf =tan(a — f) =

2
tang —tan S 3
1+ tana tan S 1+

7. F1* 123 ~4zwikfcF F £ e P2z D81 By 7
. 1 2 1 1
~?7A)- B) = (C) = (D) -
(A); B) T (©) - (D) 3
<f#{i>
T 3R+ 5 iE R B = T Hcd4x3x2=24
11 e #c: 341 ~ 143 ~ 231 ~ 132
4 1

e k= =" , % C-o
r(’b\g‘—f % 6 3

LA A (1] E )

Taiwan Preliminary (Grade 11)
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10. There are two boxes A and B. There are one white ball and one black ball in box A. There
are one white ball in box B. Peter and May take turns to draw the ball. Every time Peter
draws a ball from box A and then puts it in box B. Then May takes out a ball from box B
and puts it in box A. After they complete a round for the first time, what 1s the probability
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(2°sin20 )k =2’sin 20" - cos20°- cos 40° - cos 80°
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15. Arrange the black and white chess pieces in the pattern on the right. ON NON RO
When there are 12 pieces on each side, how many more black chess 0000
pieces than the white chess pieces? (A)9 (B)10 (C)I1 (D)I2 ceoes
<fEtr> O00QO:

b 4 =14549+13+17+21
2 ¢ =3+7+11+15+19+23
48 £ =(3-1)+(7-5)+(11-9)+(15-13)+(19-17)+(23-21)=12 » i D -
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=7 =3 [=2
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25. A bottle of beverage has two parts A and B. Part A is a cylinder, as
shown in the picture. Now the bottle contains some drinks. The
height of the beverage is 20 cm when placed. The height of the A
remaining part is 5 cm when it is reversed. If the volume of the
beverage bottle is 30000 cm’. What is the volume of the existing beverage in the bottle‘?
(A)20000 (B)22000 (C)24000 (D)26000
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